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BE 1,520 0 1,520

a|m® KA 1,290 0 1,290

AB 1,360 0 1,360

AC 1,060 0 1,060

BE 1,150 1,190 2,340

. H{EA 970 1,190 2,160

L2 H 4B 1,030 1,190 2,220

AC 800 1,190 1,990

BE 1,840 2,390 4,230

#HH : 2 :

F{AA 1,840 2,390 4,230

SR ,;%93 £% [ @as 1.840 2.390 4.230

AC 1,150 2,390 3,540

BE 2,310 2,390 4,700

a|m® F{AA 1,960 2,390 4,350

AB 2,070 2,390 4,460

AC 1,610 2,390 4,000

BE 290 0 290

. F{AA 240 0 240

L2 H{AB 260 0 260

H&C 200 0 200

BE 590 0 590
KH

F{FA 500 0 500

SR E?%‘i % | His 530 0 530

H&C 290 0 290

BE 590 0 590

2= F{FA 500 0 500

F{AB 530 0 530

H&C 410 0 410

BE 490 0 490

— F{FA 410 0 410

L2 T HkB 440 0 440

H&C 340 0 340

= B 990 0 990
=X

p F{FA 840 0 840

&R E«Sgin £t F{AB 890 0 890

H&C 490 0 490

B 990 0 990

2% F{FA 840 0 840

F{AB 890 0 890

H&C 690 0 690

B 580 0 580

. F{FA 490 0 490

LR H{AB 520 0 520

H&C 400 0 400

N, B 1,170 0 1,170
I

p F{FA 990 0 990

&1 7;;7% £t E{AB 1,050 0 1,050

H{&C 580 0 580

B 1,170 0 1,170

2% F&A 990 0 990

E{AB 1,050 0 1,050

H&C 810 0 810
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BE 340 0 340

— F{EA 280 0 280

LB H{AB 300 0 300

H&C 230 0 230

= BE 680 0 680

= F{EA 570 0 570

LS E?%i £% [ mas 610 0 610

H&C 340 0 340

BE 680 0 680

a|% F{EA 570 0 570

F{AB 610 0 610

H{&C 470 0 470

BE 1,320 1,360 2,680

— FH{EA 1,120 1,360 2,480

LB H{AB 1,180 1,360 2,540

H{kC 920 1,360 2,280

BE 2,110 2,730 4,840
B : : :

F{AA 2,110 2,730 4,840

R é;‘f £ | His 2110 2730 4.840

H{kC 1,320 2,730 4,050

BE 2,640 2,730 5,370

EES F{AA 2,240 2,730 4,970

AB 2,370 2,730 5,100

H{kC 1,840 2,730 4,570

BE 580 0 580

. F{EA 490 0 490

L2 H 4B 520 0 520

H&C 400 0 400

" BE 1,170 0 1,170
XF : :

F{AA 990 0 990

B E?‘%‘i £% [ @as 1.050 0 1.050

H{&C 580 0 580

BE 1,170 0 1,170

a|m® KA 990 0 990

AB 1,050 0 1,050

H{&C 810 0 810

BE 990 1,190 2,180

. KA 840 1,190 2,030

L2 H{AB 890 1,190 2,080

AC 690 1,190 1,880

& TN N T R B
DIEN R , E

R é;f % | His 1580 2.390 3,970

H{kC 990 2,390 3,380

BE 1,980 2,390 4,370

2% F{FA 1,680 2,390 4,070

AB 1,780 2,390 4,170

AC 1,380 2,390 3,770

BE 760 0 760

B = F{AA 640 0 640

vE TRB 680 0 680

H&C 530 0 530

: BE 1,520 0 1,520

By i;%;’f . F{FA 1,290 0 1,290

ooy AB 1,360 0 1,360

H&C 760 0 760

BE 1,520 0 1,520

2% F{FA 1,290 0 1,290

B 1,360 0 1,360

AC 1,060 0 1,060




